
OLPI-001 No. of Printed Pages : 6 

CERTIFICATE IN POULTRY FARMING (CPF) 

Term-End Examination 

	

13 2 1 	December, 2014 

OLPI-001 : POULTRY HOUSING AND MANAGEMENT 

	

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry 
equal marks. 

1. Answer the following : 	 2x5=10 

(a) Advantages of deep litter system 

(b) Value-added egg products 

2. Define the following : 	 5x2=10 

(a) Broiler 

(b) Debeaker 

(c) Scalding 

(d) Dressing percentage 

(e) Bio-security 

3. Explain layer management in detail. 	 10 
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4. Write short notes on any two of the 
following : 	 2x5=10 

(a) Infectious Bursal Disease 

(b) Newcastle Disease 

(c) Cage Layer Fatigue 

5. (a) Indicate true or false : 	 5x1=5 

(i) Canopy brooder is an inverted umbrella 
like equipment. 

(ii) Comb of good layer is large, red and 
warm. 

(iii) Infectious coryza is caused by 
Hemophilus Paragallinarum. 

(iv) Male turkey is called Tom. 

(v) Rearing birds in open is called 
intensive system. 

(b) Mention the age at sexual maturity in 
days : 	 5x1=5 

CARI Debendra 

(ii) CARI Hitkari 

(iii) CART Nirbheek 

(iv) CARI Shyama 

(v) CARI Upcari 
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6. (a) Mention the incubation period (in days) for 
the following : 	 5x1=5 

(i) Chicken 

(ii) Duck 

(iii) Guinea Fowl 

(iv) Quail 

(v) Turkey 

(b) Name the home/native tract of the following 
native breeds of chicken : 	 5x1=5 

(i) Ankleshwar 

(ii) Aseel 

(iii) Kadaknath 

(iv) Nicobari 

(v) Tellicherry 

7. Explain the management of Quails. 	 10 

8. (a) Explain the factors affecting cost of 
production of eggs. 	 5 

(b) Describe the importance of farm record 
keeping. 	 5 
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